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1] The owner of a cupcake business has one employee, who is paid
an hourly rate of $25. The owner estimates his weekly prefit using the
| function P(x) = 8600 — 25x. In this function, x represents the number of
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L i . 2) Scarlett was given $3000 when she turned 2 years old/Her parents
= invested it at a 2% interest rate compounded annually. No deposits
= invested it at a 2% interest rat ded deposit 1
S — orwithdrawals were made. Which expression can be used to
by _____ determine how much money Scarleit had in the occounf when she /é/
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5) Which domain would be the most appropriate set to use for a ?) Ahad is given a rectangular piece of paper. If the length of
function that predicts the number of household online-devices in Ahad's piece of paper is represented by 2x - 6 and the width is
terms of the number of people in the household? represented by 3x + 5, then the paper has a total area
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e 10) If the pattern below continues, what formula will represent
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7) Some banks charge a fee on savings accounts that are left A o Bk D i B K
inactive for an extended period of time. The equation y = 5000(0.98)* A(,‘_‘,\'/.‘\ o
represents the value, y, of one account that was left inactive fora CA\,CQ/\ + 2.
period of x years. What is the y-intercept of this equation and what S— Y
does it represent? el St b A’ P(_ { +-f3m 11) Solve the equation 4x2 - 12x = 7 algebraically for&xk. c
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(1) 0.98, the percent of money in the account initially il 5
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8) Write the equation in vertex form and state the vertex of the . | mine = 7 ) =0
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